Goteborgs BF

Fyrmanna, tisdagtid, match 1:2

IMP over faltet, 4 bord, 8 par. Antal brickor: 12.

Plac Par Poéng Namn MID
1 2 1.25 Thomas Almén - Claes Biihler 59547 14621
2 302 1.22 Yvonne Falk - Rut Hillensjo 44319 57830
3 201 0.19 Margreth Johansson - Lisbeth Ohlsson 33864 58415
4 101 0.00 Birgitta Almersjo - Ingrid Rosander 27828 54236
4 301 0.00 Folke Grauers - Dan Werdelin 57805 48410
6 1 -0.19 Solve Helin - Lars Seligman 49357 55618
7 102 -1.22 Hans Fredling - Hans Setterborg 48787 47674
8 202 -1.25 Rodny Carlsson - Bengt Cederberg 57784 59980
13 4 ED983 Basta kontrakt 14 4 K102 Basta kontrakt 15 4 D106432 Basta kontrakt
Nord v K97 5¢v O =-650 Ost v KKn104 5NT S =460 Syd vE762 64 S =1430
Alla ¢ E Ingen 92 NS + D93
#9532 % ¢ v & NT »EK64 & ¢ v & NT »- & ¢ v & NT
.- «KKn1072 N 3 2 2 4 3 «DKn753 4864 N 119 118 10 « K75 «Kn N7 9 6 128
vDKn632 vE5 S32243 v 9762 vD3 S 119 118 11 vK10984 vKn53 S 797 128
¢ KD106 ¢ Kn742 O 9 11118 10 465 ¢EKKN107 O 2 4 2 5 2 +10 ¢ Kn7642 053612
*ED76 2KKn vV 1011118 10 *Kn8 21072 V24252 #KD82  #10954 V53612
4654 «E9 «E98
v 1084 v E85 vD
49853 + D843 + EK85
#1084 #D953 #EKn763
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
1201 2¢vV+3 ¢A -200 30.0 -30.0(102 302 3NS+1 &3 430 24.0 -24.0 1 201 44 N+2 vJ 680 13.0 -13.0
101 301 3NO+1 ¢5 -630 -90 9.0|101 301 3¢ O-4 vA 200 3.0 -3.0/101 301 3NN+2 vJ 660 10.0 -10.0
102 302 3NO+1 46 -630 -9.0 9.0 2 202 3#S+1 +6 130 -3.0 3.0 2 202 44 N+1 vJ 650 10.0 -10.0
2 202 4vV+1 ¢A -650 -12.0 120 1 201 4vS-2 6 -100 -240 24.0(102 302 34 N= vJ 140 -33.0 33.0
16 4« Kn107654 Bésta kontrakt 17 « D10954 Bésta kontrakt 18 & Kn9 Bésta kontrakt
Vast vED 3NT N =400 Nord vD5 44 N =420 Ost vKn754 3v O =-140
oV 2 Ingen ¢+E3 NS + DKn953
#E1083 & ¢ v & NT #EKD2 & ¢ v & NT »106 & ¢ v & NT
4KD982 4E3 N 8 106 7 9 « Kn87 » K62 N 106 9 108 «E108 K643 N4 7 446
vK1093 vKn742 S 8 106 7 9 v73 vE1096 S 106 9 108 v K96 v 10832 S57 446
+E6 ¢ 1085 04266 4 ¢ KKn1065 ¢ D984 027233 ¢ K7 ¢ 842 0869 87
*Kn4 #D952 V42¢62¢64 *Kn73 *84 vV27233 #KKn982 #E7 V96987
a- aE3 4 D752
v 865 v KKn842 vED
+ KDKn9743 *72 + E106
*K76 #10965 #D543
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 202 34DV-3 ¢2 800 34.0 -34.0(102 302 2NN+2 v9 180 15.0 -15.0|102 302 2# V-2 4J 100 9.0 -9.0
102 302 3NN= A 400 8.0 -8.0|101 301 2NS= 5 120 9.0 -9.0 1201 2#V-1 &«J 50 20 -20
1201 3vyV-1 2 100 -15.0 15.0 1 201 3NS-1 ¢5 -50 -9.0 9.0 2 202 24 O-1 #3 50 20 -2.0
101 301 3NN-1 A -50 -27.0 27.0 2 202 3NN-2 48 -100 -150 15.0(101 301 2&#V= 4] -90 -13.0 13.0
19 #7532 Basta kontrakt 20 « D864 Basta kontrakt 21 «D2 Basta kontrakt
Syd v5 5NT V =-660 Vast v K10962 3¢ V =-110 Nord v K8543 34 O =-140
ov ¢+ Kn4 Alla 4953 NS ¢ 642
#E107632 & ¢ v & NT »7 & ¢ v & NT »K52 & ¢ v & NT
«E9%4 #KDKn108 N5 6 3 1 2 « K2 «E973 N6 4866 « EKKn843 410976 N9 3935
vEDKn3 v874 S56 312 vKn75 v43 S 64876 v92 v 107 S93935
+ E85 * K2 08 6 101111 ¢E74 ¢DKn1082 O 7 9 5 6 7 + D97 ¢ EKn105 0383938
#Kn8 *K94 vV 8 6 101111 #K9854 #D3 V79567 83 *E106 V383898
.- # Kn105 45
v K10962 vEDS8 v EDKn6
+ D109763 + K6 + K83
«D5 #EKn1062 #DKn974
Par Kontr Ut  Res Poang Par Kontr Ut  Res Poang Par Kontr Ut  Res Poang
201 1 640-1 2 100 37.0 -37.0 2 202 2v N= 43 110 13.0 -13.0( 101 301 44 V-1 &2 50 22.0 -22.0
2 202 44 O= ¢3 -620 -10.0 10.0|{102 302 INS= #4 90 11.0 -11.0 2 202 34 V+1l &2 -170 0.0 0.0
301 101 44 O= #Q -620 -10.0 10.0(201 1 2¢ O= &J 90 -7.0 7.0/102 302 24 V+2 &K -170 0.0 0.0
102 302 44 O+2 9 -680 -17.0 17.0|301 101 2#S-2 42 -200 -17.0 17.0 1 201 44 V= &2 -420 -22.0 22.0
22 & E952 Basta kontrakt 23 4 D97 Basta kontrakt 24 4 Kn987 Basta kontrakt
Ost v6 44 S =420 Syd v3 4v V =-620 Vést v 109 5¢ V =-400
ov + KD643 Alla + Kn8 Ingen *4
*KD7 & ¢ v & NT #EKD10632 & ¢ v & NT #EKD1085 & ¢ v & NT
«D10 » 83 N7 86 107 «E864 4K3 N8 2367 « ED63 a4 N7 2285
vE975 vDKnl103 S 7 87 108 vE102 vDKn954 S82367 vKn76 v EKD543 S72285
¢EKn2 410975 0556 35 +D73 ¢ E10542 O 4 10106 6 ¢ KDKn106 ¢ 8732 04 119 5 6
#E1042 £863 V55635 #Kn75 #4 V 4 10106 6 *6 *97 V 4 119 5 6
& KKn764 & Kn1052 & K1052
v K842 v K876 v 82
+8 + K96 ¢ E95
#Kn95 »98 #Kn432
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 201 44 N= vQ 420 18.0 -18.0 2 202 44 S= v2 620 39.0 -39.0 1201 3¥yO0+1 &J -170 22.0 -22.0
2 202 24 S+4 v7 230 -1.0 1.0 1 201 3«aN= vQ 110 80 -80|101 301 4v O+1 &2 -450 -50 5.0
101 301 24 S+3 v7 200 -50 50101 301 3¥y O+1 &8 -170 -12.0 12.0|102 302 4v O+1 &3 -450 -5.0 5.0
102 302 34 S= +2 140 -12.0 12.0(102 302 34DS-2 vA -500 -35.0 35.0 2 202 54DN-3 44 -500 -12.0 12.0
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